Process WEW= WZ

Pre-fit Post-fit Pre-fit Post-fit
EW WTW+ 208.6 +22.1 2104 £ 25.7 — —
QCD WEW= 13.6+23 137422 — —
Interference WTW* 84423 87423 — —
EW WZ 141+17 17.8 £39 543+ 5.7 68.6 + 14.6
QCD W2z 429 +47 427 +£74 1179 £ 6.8 1173 +16.6
Interference WZ 0.34+0.1 0.34+0.2 221+ 0.6 27 +1.0
77 0.7 +0.1 0.74+0.2 6.1+04 6.0 £1.8
Nonprompt 210.8 £54.8 1925+396 146176 144+ 6.7
tPVX 9.0£3.1 74+£22 1514+19 143 £+ 2.8
Wy 7.8 2.0 91429 1.1£05 1.1+£04
Wrong sign 135+7.1 139 £ 65 1.6 £0.7 1.7 £0.7
Other background 50+24 52+21 33+£07 33+£07
Total SM 534.7 + 60.0 5224 +48.7 216.2+119 22944234

Data 524 229



